ANSWER KEY OF WORKSHEET

CLASS VI
MATHEMATICS
WORKSHEET - 1
1. a)Ten thousand five b) Fifty thousand one hundred nine
c) Nineteen thousand eighty five d) Ninety nine thousand nine hundred one

2. a) 40017 b) 10006 c) 90019 d) 33295
3. a)3581< 31586 < 35816 < 36819

b) 90043 < 90046 < 90304 < 90403 < 90406
4. a) 16001 >16000 > 10600 > 10060

b) 86142 > 84126 > 82641 > 82416
5.5,5,%,>
6. a) 90000 b) 10890 c¢) 2000 d) 2010
7. a)9999 b) 999 c) 9998 d) 16887

8. a) 9940 (G)b) 8873 (G)

4009 (S) 3378 (S)

9.a) 9847 (G) b)8976(G) c)4987(G)
1042 (S)1902 (S) 4013(S)

10. a) 50 b) 80000 ) 9000 d) 700

WORKSHEET - 2

1,40,00,000 mg

1,70,00,000 mm

7000 ml

(i) a) 9740 km (ii) 26550 km

i s WN

b) 15520 km (iii) 5980 km

76432 - 23467 = 52965 screws
65124

228800 votes

177 boxes

v LN



WORKSHEET -3

1. (a) 40 (b)90 (c)150 (d)480 (e)790 (f)90 (g) 370 (h) 1490 (i) 8800
(j) 6930

WORKSHEET — 4

1. (a)100 (b) 451 (Ans.500) (c)400 (d) 800 (e) 1000 (f) 7800 (g) 9500
(h) 5800 (i) 1700 (i) 9200



